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p in Wolfram: 850<mass<1050
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MPV vs P in Carbon
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MPV vs P in Wolfram
wsim
34— , ppmpv_0
~ Entries 12
3.2 Mean 330.5
- Data RMS 1778
2.8 :—«{5._
28 T
24
- -+
22—
o =+ — _
— __4_—|——|-++_|_ + —
1.8 — + s
1'6 -_l Il 1 I L L L I L L L l 1 1 L I L L L I L L L l 1 1L L I L L L
0 200 400 600 800 1000 1200 1400 1600
P(MeV/c)
— wsimppmpv_1
M TOF &t Data Entries 1
35 Sim Mean  252.3
C RMS 159.3
3 :—_ _
25 —
5‘_ - —|—\_.|_++'|' -
2 — T —_—
- -
1.5
1=
0.5 f—
0 : Il 1 [l I L L L I L L L I 1L 1 1 I L L L I L L L I 1 1L L I L L L
0 200 400 600 800 1000 1200 1400 1600
P(MeV/c)

mpv

mpv

10

15

10

wsimprmpv_0
B Entries 16
: + Mean 608.9
| RPC P RMS 2291
- —+
[ = Data
i _ Sim
[ e
__ e
___'_‘—'-——-—
-I L L ' L 1L L I L L L I L L L l 1 L L I L L L I L L L I 1 L1
0 200 400 600 800 1000 1200 1400 1600
P(MeV/c)
= wsimprmpv_1
- - TOF P Entries 13
N Mean 4311
N RMS  182.4
N Data
- Sim
_I L L I L 1 1 I L L L I L L L I 1 L 1 I L L L I L L L I 1 1
0 200 400 600 800 1000 1200 1400 1600
P(MeV/c)

10



mean

mean

Mean vs P in Carbon
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Mean vs P in Wolfram
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MPV vs P in Carbon
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MPV vs P in Wolfram
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RMS vs P in Carbon
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RMS vs P in Wolfram
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RPC Carbon Exp pions (No Cor) p<800 MeV/c
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RPC Carbon Exp pions (No

Cor) p>800 MeV/c
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RPC Carbon Exp protons (No Cor) p<800 MeV/c
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RPC Carbon Exp protons (No Cor) p>800 MeV/c

carbpr RPC: dEdX fit for 800 < P < 850
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RPC Carbon Exp pions (Cor) p<800 MeV/c
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RPC Carbon Exp pions (Cor) p>800 MeV/c

carbpp RPC: dEdX fit for 800 < Poor < 850
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RPC Carbon Exp protons (Cor) p<800 MeV/c

carbpr RPC: dEdX fit for 0 < Peor ¢ 50
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RPC Carbon Exp protons (Cor) p>800 MeV/c

carbpr RPC: dEdX fit for800 ¢ Peor ¢ 850
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